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How do you order a burger at i.e. McDonald’s ? 
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How do you order a pizza at i.e. pizza restaurant? 

2

8

.

0

8

.

2

3



How do you say hi to 
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Friend ? King ? 



Protokol-
stakken

2

8

.

0

8

.

2

5



2

8

.

0

8

.

2

6

TCP 3-way handshake – example of protocol 

SYNbit=1, Seq=x

Init Connect

SYNbit=1, Seq=y
ACKbit=1; ACKnum=x+1

Receive connect request
answer acknowledge

ACKbit=1, ACKnum=y+1

Connection accepted
confirm acknowledge

Connection established



Application protocol
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Own protocols - examples
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Add 5 8

5 + 8 = 13

Sender Receiver

request

response

5 Add 8 ?

5 + 8 ?

5 8 Add ?

Plus 5 8 ?

Add 5 8 ?
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